97942 JE7B W RIFARFE DIN 3405

7= miiEA

M
W AEEMN 1.4305,

I
MHEEEE
STETEMN,

B
AT EBERIERATFERTRRE,
WA FR R T EELIEE N B b AT TR A EB

BHERER :
AR E
B & : Zph 45°
CH : &M 90°

<
120° o _!._a’._ 3
i Y | :
A w 1 LN
- NS
= w1
1 !
1
D D
== 5 —
97942-1106100 A L] B M6x1 9 6 7
97942-1108100 A AN & B M8X1 9 6 9
97942-1108125 A M Vav::| M8X1,25 9 6 9
97942-1110100 A AN A M10x1 9,5 6,5 11
97942-1118 A ErES] B R1/8 9 6 11
97942-2106100 A 5N A M6X1 8,2 6 7
97942-2108100 A NG B M8x1 9,5 6,5 9
97942-2108125 A T4 Vav::| M8x1,25 9,5 6,5 9
97942-2110100 A 548 A M10X1 9 6 11
97942-2118 A NG B G1/8 9 6 11
97942-1206100 B L] B M6x1 15 55 9
97942-1208100 B AN baBiA M8x1 15 55 9
97942-1208125 B M VB M8x1,25 15 55 9
97942-1210100 B L] bk M10x1 15 55 11
97942-1218 B ErES] baBiA R1/8 15 55 11
97942-1306100 C L] bk M6x1 18 55 9
97942-1308100 C AN B M8x1 18 55 9
97942-1308125 C M bR M8x1,25 18 55 9
97942-1310100 C L] B M10x1 18 55 11
97942-1318 C M baBiA R1/8 18 55 11

© norelem www.norelem.com



97942 JE7B W RIFARFE DIN 3405

© norelem www.norelem.com



